18SMATDIP41

1 a. Find the rank of the matrix by applymg elementary row operatlons

50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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ii) infinite solution
iii) no solution. (07 Marks)
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4x+1ly— z#~ 33
8x — 3y : 2z =20
(07 Marks)
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A | 5026
Find the area when D = 105 using an appropnate interpolation, formula (06 Marks)
Find the real root of the equatlon ﬁgos x = 3x — 1 correct ”to three decimal places using

Regula — Falsi method. S’ (07 Marks)

using Weddle’s rule. Take seven ordinates. (07 Marks)

1
Evaluate I N dx2
g 1+x

......

Find ugs from the ”’dyéta up = 225, uy =
interpolation formula.

» = 320, u3 = 340 by using an appropriate
(06 Marks)

Use Newton'= Raphson method to find areal root of the equation x>+ 5% — 11 = 0 correct to
the three decimal places.

(07 Marks)

the interval [0, 1] into six equal
g ‘

on loge. (07 Marks)
| Module-3"
Solve (D’ — 6D’ +11D - 6) y = 0. (06 Marks)
Solve (D 4)5?“: gosh (2x — 1)+ 3 (07 Marks)
2. ; m’
Solve —}-X w3 — dy +2y=4 cos > (07 Marks)
/ ’ &
o, SOlVE _d_Z +y=0 (06 Marks)
dx
Solve y" + 9y cos 2x -cosx ) : (07 Marks)
Solve y" — (a ¢ b)y . aby =™ + ™ (07 Marks)
Module-4
Form a pamal dlfferen'ual equation by eliminating the arbitrary constants in
ax’ + by +722=1. (06 Marks)
Form the partial: di
Ix + my + nz = ¢(x> +y + 7). (07 Marks)
2., &
Solve %x% = azz , given that when x =0, z =0 and % =asiny. (07 Marks)
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Form a partial differential equation by eliminating the arbitrary constructs from
Z=Xy+ y\/x2 —a”+b, (06 Marks)
0%z -
Solve e =X +y by direct mtegratlom, ¢ (07 Marks)
¥ o -
0%z ;
Solve —- =z, given that z = =0. (07 Marks)
Module-5
Define :
i) Sample space.
i) Mutually exclusive events ;
iii) Mutually* independent events. (06 Marks)
A box contains 4 black, 5 white and 6 red balls If 2 balls are drown at random, what is the
probability:that :
1) both are red @f
ii) one black and one white. = (07 Marks)
State and prove Baye’s theqrem@' (07 Marks)
OR
0 037
(06 Marks)
B, C, D whose chances of solving it are
i (07 Marks)

i)ercentage of defective ‘outputs of these macﬁmes are 3, 4, and 5 respectively. If an 1tem is

"%elected at random «hat 18 the probablllty that it is defective? If a selected item is defective,
(07 Marks)

* % k % %
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